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) Addisjon opptil 100 (horisontalt)

Bl Ae

StudentName: ExamDate: _ ExamScore: ____
9+ 11 = 35+ 68 =
1+34= 8+2=
69 +352 = 85+9=
2+55= 58+ 13 =
39+62= 10+ 65 =
14+61 = 1+47=
3+21 = 71+ 13 =
19+3= 79 +29 =
46 + 91 = 33+79 =
S50+35= 92 +65 =
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| Addisjon opptil 100 (horisontalt)

Q2 Ate

StudentName: __ ExamDate: _ ExamScore:
59+11="70 35+68 =103
1+34=35 8+2=10
69 + 52 =121 85+9=94
2+55=157 58+13=71
39+62 =101 10+65="75
14+61 =75 1+47 =48
3+21=24 T1+13=84
19+3=22 79 +29 =108
46 +91 = 137 33+79=112
50+35=285 92+ 65 =157
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